track x?

o,
7082

“rog,

N of associated (recoToSim) looper tracks vs normalized x*

| N of associated (recoToSim) tracks vs normalized X2 |

)
o
]

syoel arealidnp

O%~2 4 6 6 10 12 14 16 18 20

track x?

sxoel arealdnp oney

0% ~2 4 6 8 10 12 14 16 18 20

track X2

+

Syoel) axey

O9%~2 4 6 6 10 12 14 16 18 20

1608
[$%3_$P00RYUTLIER3 1000evt

track x?

soel} oy

o6,
.

Hrog,

e o
hrog, g

| N of reco track vs normalized x? |

syoel

0% ~2 4 6 8 10 12 14 16 18 20

N of reco track v: g

!
=
o
-

syoel



	Contents
	Page 1


